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Unit 3 – Proportional Reasoning
Write the letter that best answers the question or completes the statement.

Is each equation a proportion?
1.
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a)
Yes



a)
Yes





a)
Yes

b)
No



b)
No





b)
No

c)
Both Yes and No


c)
Both Yes and No



c)
Both Yes and No

d)
Neither


d)
Neither



d)
Neither
Solve each proportion.
4.
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a)
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a)
.75

b)
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b)
1.0



c)

[image: image8.wmf]3

.

6





c)
1.25

d)
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d)
1.5
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7.
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a)
-2.3



a)
4.5

b)
-2.8



b)
5.5



c)
-3.3



c)
6.5

d)
-3.8



d)
7.5
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9.
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a)
±  4



a)
9.25

b)
±  6



b)
9.75



c)
±  8



c)
10.25

d)
±  9



d)
10.75
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Write a proportion for each real world problem then solve.

10.
Recipe

Dena made chili for 12 people and used 3 pounds of ground beef.  How many pounds of ground beef are needed to make enough chili for 50 people?

a)
10.5 lbs

b)
12.5 lbs

c)
13.5 lbs

d)
15.5 lbs
11.
Scale Drawing
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The dimensions of two scale drawings of the Statue of Liberty are given below.  Find the height of the larger drawing.

a)
7 inches

b)
8 inches

c)
9 inches

d)
10 inches
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12.
Survey

Carol surveyed 125 students as they walked into her high school about who they are voting for in the upcoming class election.  72 students said they will vote for Tara.  If there are 1842 students enrolled in her school, then approximately how many will vote for Tara? 


a) 
about 1061 students

b) 
about 1072 students

c)
about 1085 students

d)
about 1096 students
Write each percent as a DECIMAL.
Write each percent as a FRACTION.

13.
40% 
=


16.
40% 
=




a)
0.4
b)
0.04

a)
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d)
40
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a)
0.225
b)
2.25

a)
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c)
22.5
d)
225

c)
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0.45%  =


18.
0.45%  =



a)
0.0045
b)
0.045

a)
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c)
0.45
d)
4.5

c)
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Solve each percent problem.

19.

10 is 40% of what number?
20.
Find 42% of 150.

a)
15



a)
63

b)
20



b)
68



c)
25



c)
73

d)
30



d)
78
21.

60 is what percent of 250?
22.
Your income increased from $24,000 to $26,880.








What is your percent increase?

a)
16%



a)
6%

b)
18%



b)
8%



c)
20%



c)
10%

d)
24%



d)
12%
Find the probability of each situation.

23.
Tina is hiding behind one of 8 closed 
24.
Jacquie
 has a normal deck of cards (52 total cards,

doors.  What is the probability that you


4 cards for each number or face card).  What is the 


choose the door in which Tina is hiding?


probability that she will randomly choose a King





or a Queen in one drawing?

a)

[image: image26.wmf]4

1





a)

[image: image27.wmf]13

1



b)

[image: image28.wmf]4

3





b)

[image: image29.wmf]13

2





c)

[image: image30.wmf]8

1





c)

[image: image31.wmf]4

1



d)

[image: image32.wmf]8

3





d)

[image: image33.wmf]26

1


25.
Dana has a bag of 10 blue, 8 red,
26.
Jennifer is playing Deal or No Deal.  If


and 6 green marbles.  What is the


there are 26 suitcases to choose from, then


probability of choosing a blue marble?


what is the probability that she will choose






the million dollar suitcase on her first pick?


a)
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Find the probability of each compound event.

27.
Dana has a bag of 10 blue, 8 red, and 6 green
28.
What is the probability of the same event in

marbles.  Find the probability of choosing

#27, except the marbles are NOT replaced

a blue, another blue, then a green marble


after each pick?

if she replaces the marbles after each pick?

a)
about 4.340% 


a)
about 3.127%

b)
about 5.532%


b)
about 4.445%



c)
about 6.073%


c)
about 5.268%


d)
about 7.451%


d)
about 6.082%
29.
Dena rolls a fair die (with 6 faces) three times.  Find the probability in rolling an even, a 1, then a 6.

a)
1  /  24

b)
1  /  36

c)
1  /  48

d)
1  /  72
30.  
Danielle spun the spinner two times.  What is the probability it will land on A then B?
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a)
3  /  8
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b)
3  /  16
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c)
5  /  64
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d)
7  /  36
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31.
Chelsea draws three cards out of a standard deck of cards without replacing each card.  What is the probability the first card is red, the second card is black, and the third card is red again.  


a)
about 10.852%

b)
about 12.745%

c)
about 14.117%

d)
about 16.518%
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The table shows the number of 10th graders that fall in a certain category on the State Assessment 

Test.  Suppose there are 310 total 10 graders that are chosen at random.  Find each probability.

32.
What is the probability that a 10th




grader does not meet his or her 






state test?

33.
What is the probability that a 10th


grader passes his or her state test?
34.
What is the probability that a 10th



grader exceeds his or her state test?



Find the number of outcomes for each situation.

35.
The number of ways 8 students can be named as president and vice-president.


36.
The number of ways 8 students can stand in a line at the door. 

37.
The number of ways 8 students can stand in order alphabetically. 

38.
The number of ways 8 students can form groups of 2.

39.
The number of ways 8 students can be chosen to read the announcements in 7 days if students can be chosen more than once.

40.
The number of ways 8 students can be chosen to read the announcements in 8 days if students can only be chosen once.

41.
The number of ways to choose 2 out of the 8 students to pass out papers.

42.
The number of 8-letter words using the letters in TRIANGLE.
43.
The number of 8-letter words using the letters in GEOMETRY.




There are 8 girls and 10 boys in the Hawaiian Club.

44.
How many ways can four of them be chosen


to represent the club at a Club Fair in Portland?
45.
How many ways can four of them be chosen so there are two girls and two boys? 


You go to a sub shop and you notice that there are 4 different breads, 7 meats, 4 cheeses, and 8 extras to choose from.
46.
How many subs can you make if you choose one of each? 

47.
One of the meat choices is tuna, but you hate tuna.  One of the extras is pickles, but you also hate pickles.  If you still want only one of each, then how many subs can you make?
48.
How many subs can you make if you choose one bread, two meats, one cheese, and three extras?
49.
How many possible sub sandwiches can the sub shop make?
(In other words . . . you choose one bread, and zero to any amount of meat, cheese, and extras.)





Unit 3 Answers:

1) a

13)
a
25) b
37)
ab
2) b

14)
b
26) d
38)
ae
3) a

15)
a
27) a
39)
a
4) b

16)
b
28) b
40)
b
5) a

17)
d
29)
d 
41)
ae
6) b

18)
c
30) c
42)
b
7) d

19)
c
31) b
43)
c
8) b

20)
a
32)
c
44)
ac

9) a

21)
d
33)
b
45)
c

10) b
22)
d
34)
e
46)
b
11) d
23)
c
35)
d
47)
d
12) a
24)
b
36)
b
48)
e






49)
ac
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Test Scores   Does not Meet          Meets             Exceeds         





10th Grade             142                    137                    31        





Choices for #32 to #34:





	a)	� EMBED Equation.3  ���	b)	� EMBED Equation.3  ���





	c)		� EMBED Equation.3  ���	d)	� EMBED Equation.3  ���





	e)		� EMBED Equation.3  ���	





Choices for #35 to #43:





	a)	� EMBED Equation.3  ���


	b)	� EMBED Equation.3  ���


	c)	� EMBED Equation.3  ���


	d)	� EMBED Equation.3  ���


	e)	� EMBED Equation.3  ���


	ab)	� EMBED Equation.3  ���


	ac)	� EMBED Equation.3  ���


	ad)	� EMBED Equation.3  ��� 


	ae)	� EMBED Equation.3  ���
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Choices for #44 and #45:





	a)	� EMBED Equation.3  ��� 	


	b)	� EMBED Equation.3  ���


	c)	� EMBED Equation.3  ��� 	


	d)	� EMBED Equation.3  ���


	e)	� EMBED Equation.3  ��� 	


	ab)	� EMBED Equation.3  ���


	ac)	� EMBED Equation.3  ���


	ad)	� EMBED Equation.3  ���





Choices for #46 to #49:





	a)	� EMBED Equation.3  ���	


	b)	� EMBED Equation.3  ���


	c)	� EMBED Equation.3  ���	


	d)	� EMBED Equation.3  ���


	e)	� EMBED Equation.3  ���	


	ab)	� EMBED Equation.3  ���


	ac)	� EMBED Equation.3  ���


	ad)	� EMBED Equation.3  ���


	ae)	� EMBED Equation.3  ���


	bc)	� EMBED Equation.3  ���
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